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098 232 (¥) 092 242 (3h) 098 252 (%) 092 262 (=) 098 272 (3)
D E-=ls DR E-=ls CAEXOHSESE | - 1A MRAHES
19019 = 12 X==HE= (1.5.6.13.16.18) C1QAN2UE2 [(1.5.6.9.13.18)
(5.6.15) (5.6.9) CRRMIY (5.9.17) - 1HIOIZHERX
=2t 120 E24Y QI TO0| [(1.2.5.6) CAROFENA/HE [(1.2.5.6.10.12.15.
St 2 Al ogoret (2.5.6.10.13.15.16((1.2.5.6.10.15.16) | - 1=SFEH &= (1.5.6.10.12) 16)
) < 182 X1(9) (1.5.9) < 182 X1(9) - 12012F23
< 182 X1(9) - 1Al2IZ(2.5.6) - THHI=2XI(9) - TAFQIDI A 3H (5.6)
- 1HIEFQICAI 2] 1Z2&EFI| 1Y DAE - 1Al2IZ(2.5.6) < 1B XI(9)
S IZDEHEILRE(2)(1.2.4.5.6) < TN A DA 1S (13)
=(1.5) 1RO E
I pS, B
o oF A o oret of okay of okay o oret of okey
= ey | 43y | g
0l 4 Xl (kcal ) 724 .33 724.33 -5.4 629.6 806.0 670.2 673.6 646.9
B4 3 2(g) 55. 1 10.6 98.8 87.0 83.3 91.8
CHe S (g) 18.92 18.92 12.1 20.2 23.6 15.4 19.4 25.0
X (g) 32.8 11.8 35.6 29.3 28.7 19.5
HIEF2IA(L8 RAE) 162.05 229.13 192.6 80.8 227.7 79.9 435.8 138.9
El0t21 (mg) 0.31 0.37 0.5 0.2 0.9 0.3 0.7 0.5
22 Z2tE! (mg) 0.36 0.43 0.7 0.4 1.4 0.2 1.3 0.4
HIEF2IC(mg) 24.87 31.72 49 .4 18.2 68.7 18.5 56.1 85.3
25 (mg) 242.25 290.31 180.3 195.1 203.7 80.4 224.3 198.1
3 2 (mg) 3.71 4.79 2.6 0.8 2.8 1.9 4.2 3.4
* o UR = AAAHAZFY £10%, FA0 = grstE(55~65%) ¢ T A (7~20%) : AH(15~30%)
* 1gF AR (kcal )= &35 4, @A 4, AW kcalz SAF
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SHdLHEIY | - 1es22 £2)(5.6) £)(5.6.13) S0t E R
23 (1.2.5.6.9.13) Slgzos - 1A 52401(1.5) | (5.6.10.12.13.18)
= (1.2.5.6.10.12.13. | - 1=NtAME  [(1.5.9.12) - 1QIED|HHIRR | - 1A 270l
St DAl ofoFaf 15.16) (1.2.5.6.10.12) - 1SOlelo R0l |gas (1.2.5.6.10.13.15.
-G XIZH1=20l 12T L0 (5.6.12.13.15.18) |(1.5.6.10.11.13) |[16)
(5.6.10.12.13.18) [(1.2.5.6.10.12.13. | - 1Z 22 X(9) - TAERISHYITOI (K| - THHZ=2RI(9)
- THHE=2X1(9) 15.16) - 10ILIZDI/HiLILE | 8 - 1gE=Es0tE U
P PNEE S IESEINUS [RR(H)(5) )(2.5.6.12.13.16.1 | 2=IEI(5.11)
0=3 8)
)(5.6.10.12.13.18) S 1R72E(2)
- 1= XI(9)
S 1RMFEQPEE
(2)
o 2 T
jesRel A ooket oker oker A orat Horet
o HE Y e
Ol A XI (kcal ) 724.33 724.33 9.0 768.0 813.7 845.8 781.0 738.5
Et=312(9g) 49.2 86.7 96.8 105.1 88.3 102.6
CHEH Xl (g) 18.92 18.92 17.6 34.8 25.1 39.2 45 .1 27.2
NEH ) 33.2 28.9 36.3 28.6 26.4 23.3
HIEF2IA(48 RAE) 162.05 229.13 116.8 11.7 160.5 145.6 122.2 44 A
EI0+2!(mg) 0.31 0.37 0.6 0.8 0.5 0.5 0.9 0.3
22 Z2t8!(mg) 0.36 0.43 0.5 0.6 0.3 0.5 0.6 0.6
HIEHRIC(mg) 24.87 31.72 18.7 21.8 19.6 16.5 12.6 23.2
25 (mg) 242 .25 290.31 178 .1 133.0 233.5 155.6 189.5 178.8
&H=2(mg) 3.71 4.79 4.9 3.0 2.7 4.4 10.8 3.4
o YA = AFAAAZE] £10%, FARIE ©SE(55~65%) ¢ WA (7~20%) @ AE(15~30%)
* 1g9 ol A](kcal) & ©stE 4, @4 4, A9 9kcalZ 4t
# R QAT YeAR FeAsAe] JgFe] YEYu,

*

=
01.%HF, 02,9, 03.#2, 04.%F, 05.05, 06.

AR, 4.3, 165.5a7], 16.4 317, 17.
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(1.5.6.9.10.13.16) | - 14lDJ|12= (1.5.6.9.13.16) s 1HHBRES ot
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(5.6.9) - 10IAEBLUSE - 10! S R2PEEE 5.16)
=2t < 1ZBYHOIZHO [(5.6) (2.5.6.9.10.15.16) | (5.6.13) SFEHE=
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- 120EHY (1.2.5.6.15) 10HA! XF(13) /EF2EI2 - 1H&=2H01(1.5)
(1.5.6.10.12.13.16| - 18H=2 XI(9) 1ALSER// /M |(1.5.6.13) R E= SN ARt
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TARFZ=A(13) (1.2.5) < 1B XI(9)
100l AZ X (13)
=R P, FEZ
HAA i ot ket of ok of ok oforat of ok
noy | Oy | g
0l 4 Xl (kcal ) 724 .33 724 .33 -7.5 772 .1 624 .6 675.2 780.4 497.3
Et==312(g) 56.1 117.2 84.6 84.5 102.8 77.9
CHEH Rl (g) 18.92 18.92 19.5 41.4 30.9 41.4 31.8 16.7
Xl (g) 24.4 14.3 16.9 18.9 27.3 12.9
HIEF2IA(4g RAE) 162.05 229.13 133.6 165.2 166. 1 97.5 166.2 72.9
E10+2! (mg) 0.31 0.37 0.6 1.1 0.6 0.7 0.3 0.4
2l 2 Zetel(mg) 0.36 0.43 0.5 0.6 0.4 0.7 0.5 0.2
BIEFEIC(mg) 24 .87 31.72 26.9 61.8 13.0 40.0 16.5 3.1
2 (mg) 242.25 | 290.31 189.1 208.2 276.8 148.4 2281 84.1
&HZ2(mg) 3.71 4.79 5.3 11.3 3.9 4.6 3.9 2.6
x | UX = AFAAHAGFY £10%, A0 grshE(55~65%) ¢ T (7~20%) A H(15~30%)
* 1gF YR (kcal)= ©53ME 4, @z 4 AW kcalE FHAF
* 7 Hd AFHES €odYEH Fod71K e dSFe] Y.
* A 2] gH
01. 945, 02.%%, 03.¢Y, 04.%93F, 05. 015, 06.2, 07.225°], 08. 4], 09.2%-, 10.8:x1x7], 11. 50}, 12.En}E, 13.0}
AR, 14.5%, 15.5317], 16.4327], 17.2 101 8. &2MF (=, AL, T3 £3), 19.%
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